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1 Work out:

£15 + £1.05 + 60p + £120 + 9p

Answer £

2 You buy these items.

printer paper £5
envelopes £1.25

paperclips 40p

Work out the total cost.

Answer £
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3 You have £40 to spend. You want to see one of these shows.

How much money would you have left if you bought tickets for the cheapest show?

Answer
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4 What is the difference in price between the cheapest and most expensive barbeque?

£25.89

Fhdee A Sl

Answer £

© OCR 2012 SPECIMEN

gl



5 Work out:

£3.20x5

Answer £ 1]

6 You buy 7 packs of burgers, each costing £3.55.

How much do you pay?

Answer £ [
7 Work out:

£26.72 + 4

Answer £ [

8 A ferry journey costs £52.80.
Five people share this cost equally.

How much does each person pay?

Answer £ [

END OF QUESTION PAPER
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